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One amu ( Atomic Mass Unitj is I\¢1'|:1ui\»'alrent to : {-.JLCZ-L)/ (ULt ) amu i1 Ay
{g)rlf 1-66 x 1002* (B) (mg)rlf(} 1.66 x 10022 (A) @)
(g) S 1-66x102 @) (Kg) ¥ 1-66 x 0% (©
The concept of Orbit was used by : : g JL-'A"I)__L/:,‘" ¥ &7 (2)
Plank £ (D) Bohr zf (C) Rutherford 32 (B) J.J. Thomson Uz—z- (A)
Who presented Law of Octives : : lﬁ,‘ﬁ.’_u/ 2T (3)
Mendeleev ik (D) Newlands J4J% (C) Mosely L_J» (B) Dobereiner 111, 43 (A)
Mendeleev Periodic Table was based on : : 0} e J"":J/}L,& Lkl @) o
Atomic Mass Jbt_tt (B) Electronic Configuration J-J-/g"r £ (A)
Completion of Subshell tm)'{ &’(f.,/ (D) Atomic Number AL (O

e Mkt izl € R Rdits i (5)
Which pair of the Molecules has Double Covalent Bond
C2H2 and 2l 02 (D) C,H, and 02 © N, and s O2 (B) HCI and . 0, (A)

Which one of the following Molecule is Electrons Deficient : ;.JI;J&UKJ:&/’EIIJJ;?LJ;_U:JJ@J, (6)
0, cﬁ:(l’ (D) N, Juft (© BF, PR A SPLC:)) NH, U7l (A)

How many times are the Liquids Denser than Gases  : DM e T P )
100,000 Times £100,000 (D) 10,000 Times & 10,000 (C) 1000 Times & 1000(B) 100 Times ¢ 100 (A)

Mist is an example of Solution . %df‘d/ba" 5 (8)
Gas in Solid UZtus# (D) Gas in Liquid U248l (C) Solid in Gas JALUT(B) Liquid in Gas Sltu?(a)

Tyndall Effect is shown by ' : : et ¥ L2 (9)
Chalk Solution ¢ ¥ JSb (D) Jelly & (O Paints u"' (B) Bugar Polution & ¥ S (A)
¢ U ¥ £ (10)

The formula of Rust is

Fe(OH), (D) Fe(OH), * nH,0 © Fe,0, (B) Fe,0,:nH,0 (A)

Which is the most common example of Corrosion : : Q.qugjﬁrhc..,/d’ u},f (11)
Rusting of Aluminium sy [{k‘ﬁ, (B) Chemical Decay };ﬁiw (A) E
Rusting of Iron tﬁ:..éf{_.) (D) Rusting of Tin S ¢ (© _

Which one of the following Non-Metal is Lustrous : : = Mk nﬁ"l:ﬂ Ufé-u: J.jﬁ/-"’ (12)

Sulphur /J’ (D) Phosphorus (o576 (C) Carbon (46 (B) Iodine 3T (A)




(2015 -2017) to (2017 - 2019) = | ..f.w)v;f / u,é'_..q 23 - /a0 A
48 A & 1:4525 | ssc(Part-1) | SSC. A 2018 (£ (S yantraS”

ey 5 c_Jf;.ucpw_q_d;ut)}jayxﬁ?&m (5-5)Cbzeail 4 AUy 113 Jv o 2 AU o & =Ll $
_q..bu{,z{.élr.ﬂ'{;_{f 6):/1;1213f/:}dlr (Fis {QKL}L»‘! --LZ/U’

Note : It is compulsory to attempt (5 -- 5) parts each from Q.Ne.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper,

|30 =2x 15] Make Diagram where necessary. -_u:’huffnd»ﬁutg J;H"

Bl=i=g ~¢mp

Write two applications of Nuclear Chemistry. _E:Jauﬁluﬁd}{/{é W 240y
Define Molecular Formula and give one example, - sJe L1l ’q{he/‘.‘. d’ Ur;li)sz (ii)
What is the difference between Atom and Ion? S O ULIT Ul r&f iii)
How U-235 i5 used for Power Generation? Tq..big_tfdb-pid: LLUrL3HU-235 (iv)
What are the defects of Ruther Ford's Atomic Model? ‘.'u_ﬂ_fu‘jﬁiﬁdﬂ_( B L (v)
Why the Ionization Energy increases in Period? ?q.amx_l,iu[{_,d&d}lcﬁy' tET (vi)

T bllUd Gl IS P i g Ly (i)
Why the Elements are called "S " and "P" Block Elements?
What are the contributions of Moseley in Periodic Table? el WS Lre Lipl S S (viii)
| e T B U A R E s itig @) 3 0

How an Atom can accomodate 08 Electrons in its Valence Shell. Write two ways.

What are Inter Molecular Forces? ?VEJMI;( /'a.;’):glff (i)
Define Malleable and Ductile Property of Metals. S UYLt guale SUTs (il
What is Standard Atmospheric Pressure? et ﬁ{J/é‘ﬁlL}? (iv)
Why Densities of Gases are Low as compared to Liquids? 'E'L,E(jnu:;" |f 28 J 7 MJ& (v)
Define Unsaturated Solution. -g_{/f_y/“ Ju-?u)im 33.4,,,-:\-_\“{31 (vi)

LS eo s JOLSSE s s A (% m)v) il

Explain (% m /v ) Mass/ Volume Solution with one example.

What is Tyndall Effect? S U EaCaan) S8 (viii)
Define Reducing Agent and also give an example, -@U‘dﬁmﬂnl M&%IJXEJ (i) 4/.Ulr

‘e Qe dud LAk J;‘,ié-ﬁ:%s)?l J(ﬁ&f (ii)
Why is Steel Plated with Nickel before the Electroplating of Chromium?
S AR ST e Sebl AL ST iy
How can you prove with an example that Conversion of Atom to an lon is a Reduction Reaction?
H=+1,0=-2 Saubdfyr P H,80, (iv)
Calculate the Oxidation Number of Sulphur in H,_SO..As O.N. of H = +1 and ON. of O = -2

Write the names of any two Moderately Reactive 2Met‘f:ls. _E:‘.’g'h’:. Alie 5300 g, {:;"LJF » 51 Jf (v)
How Oxygen reacts with Magnesium? 74‘—&/&-( '(.514’0-&, AL prtnifya (vi)
State two uses of Sodium. _’qifyg e Ve LAy (vii)
Why is Sodium Metal more reactive than Magnesium Metal? ‘.'q_u.r.‘/ r1 I'dmLJa.J_"': “.' J:rfir (viii)
["”.u‘:’
(5) State Postulates of Bohr's Atomic Theory. -éﬁfﬂyaﬁ‘édgfu( NPT 5/ )1y
@) State any four types of Molecules. -’q{ykrﬁbkd&f g j{ﬂ (i) -
5) quw;mM;yﬁﬁﬁﬁ%quyu,;eu;/_y/U_E'bmy;ﬂ () 61
Define Hydrogen Bonding. Explain that how these forces affects the physical properties of
compound?
@) AL i Sy nte S g ()
What is Evaporation? Discuss the factors affecting Evaporation.
(8 Describe the Electroplating of Chromium in detail. L By 201 L () 74
@ r_'Write down any four characteristics of Solution. -L,_{/wkm?:";_lguféf J i )
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Which one of the following can be separated by Physical Means : 1)

Radicals %, (D) Compounds i (C) Elements ufialil  (B) Mixtures %—f (A)

The concept of Orbit was used by : : s @d_u"’ WP TL flf 2 i
Planck u‘pl'& (D) Bohr 4 (C) Rutherford u#%v (B) J.J. Thomson ¢ liz—z. (A) ,

e dnfzouie Luiltoll et (3)

Ionization Energy Sl 77T (B)  Atomic Radius  (RLaltl (A)
Electronegativity \;é _,-]Tgfgb 3 A (D) Electron Affinity J‘ﬂut}?l (©

Mendeleev Periodic Table was based on : ol e S (@)
Atomic Mass UL S¥ (B) Electronic Configuration u-y_}_ﬁf £ ()

Completion of Subshell L':rd; 51)-’:/ (D) Atomic Number AL (O

Transfer of Electrons between Atoms results in : S P-4l | Jﬁ S B gl A (5)
lonic Bonding APUAHEZT (B) Metallic Bonding e 2Lk (A)
Coordinate Covalent Bonding LS i k2237 (D) Covalent Bonding 4 Lo £kleskd (C)

Ice Floats on water because : : q-(},c,"'u[ J;dg s (6)
Water is Denser than Ice q.d_i'{c.....i.c d& (B) Ice is denser than water q.....i{a.&l;...i‘{ (A)

Ice Molecules move Randomly ugz_.f\:f!r_.(f:}_gﬂ(gl.):....i.g (&)

Water Molecules move Randomly @Lf:ﬁc.f}é_dzgtﬁa& (D)

Which one of the following is Crystaline Solid : : 3 uﬁj]}#j W,f‘_,uc Ui (7)
Glucose  #5F (D) Glass -2* (C) Plastic £4 (B) Rubber % (A)

Mist is an example of which Solution : g cJe S S s (8) ’
Gas in Solid 2t (D) Solid in Gas UHLUT(C) Gas in Liquid U 20\ (B) Liquid in Gas Shutu(A)
Tyndall Effect is shown b»yI i : q-r_.gsd/u/ .b?‘-ldi': 9)
Chalk Solution ¢ ¥ JSb (D) Jelly % (O) Paints ¥ (B) Sugar Solution cf+ ¥ /> (A)
Spontaneoﬁs Chemical Reaction takes place in : : q;.t'xuﬁg/c}""g!d.rd’;.‘{ ulg'xc’:l, s2iE (10)
| Galvanic Cell (LAUFfi¥ (B) Electrolytic Cell 2 Jo@hdi(A)
Downs Cell LS (D) Nelson Cell Lﬁd‘-’u’!’ (o)}

Oxidation Number of Sulphur in H,SO, is : & AFYTE punso, | (11)
+6 (D +1 (© +7 ® +2 (A

e Feddle Uit aa b (12)

Non - Metals are generally soft, but one of the following is extremely hard

Diamond £45(D) lodine ¢£3¢7 (©) Phosphorus (26 (B) Graphite e/ (A) , &
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from PartII. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. _u:’ud’u":_gdnﬁutqz d"""}

What are Compounds? Give an example. oLty a0 ) 240
Define Atomic Number and give one example. L JeLi sl u._‘x':.gf". § AL (ii)
What is meant by Bio - chemistry? el (5,-"{{; (iii)

LeSUE B E I 5200 2. ok ()

6
Write Electronic Configuration of Carbon 12(3 by using Subshells.
6 .

What are Canal Rays? | Sutdn 20 (v)
What is meant by Atomic Radius? ?«;..JL/LJ’ e uﬂ_;..f Bt (vi)
What is meant by Period in Modern Periodic Table? -q.’/u_-?j.’. J iz gﬂg}-’::.ﬁm» (vii)
What are Dobereiner's Triads? - Supl gL £, S (viii)
Why are Ionic Compounds Solid? Explain. ) Lyl U UBEILEET () 34w
Why Atoms do react with each other, Y;,gLf\b.( IS LT (i)

spZnud JUL 50 e dnd® | H SHSEET (i)

Why do Ionic Compounds conduct electricity in Solution or Molten form?

Define Vapour Pressure. ) e Ayp (iv)
Define Charles Law. LS S wie £ )

% sV " Like Dissolve Like " JrIZ %y (vi)

What is meant by " Like Dissolve Like " the principle of Solubility?

What is meant by % m/m? ‘r%:y_b&. % m/m (vii)
Define Saturated Solution. -«.{/._gf'- Ju.’h,.lm.’s.'!.“)w (vili)
Define Oxidation State with an example. -Q’fc.dﬂ'.g ...g,ff-' J SEFT (i) 4/:‘Ul'f
Define Electrolysis. LI sy IS (i)
What f8,the difference between Oxidation and Reduction? e O/UA Lot FALT (i)
Distinguish between Anode and Cathode. _4( 5 iy o J/f. 5:"'{ Al 351 (iv)
Write down four names of Moderately Reactive Metals. -q)};’rtﬁ A0, (PJrese (V)
Why Alkali Metals are extremely reactive? *‘u_fuﬁ' # IS osbig Jﬂ-l-au-\ﬂl (vi)
.Write down two uses of Magnesium. -Jf(/ e e gy L (vii)
Write down two chemical properties of Non - Metals, | LI felor Sl § it (i)
(224
(5) -4( 2ol g St § gl f s i () 540

Compare the difference between the Ruther Ford's and Neil Bohr's Atomic Theories.

@) ISP s b SRt il (5 s G Rl ()

Define Industrial Chemistry and Analytical Chemistry. Write their use.

(5) Write down properties of Metals. éf/ /i::br" ¢ S (L) Gﬁidlr'
(4) Discuss the factors affecting Diffusion of Liquids. E‘:i;f{JlfoxﬂMlxl ¢ Wil (....,)
(5) What is Electroplating? Write its procedure. fﬁ)&’u’r S‘wqfdf..@hfﬂ () 7/"Ufr
@) B wb. -L[):Jk...l/!ﬁ ,@/{ UJ"':"rS‘.;_LJ' FHy (&)
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